

$$A = 40^\circ \Rightarrow$$

$$\frac{\frac{r_0}{\sin 40^\circ}}{\frac{\sqrt{c}}{r}} = \frac{\frac{r_0 \sqrt{c}}{\sin \beta}}{\frac{\sqrt{c}}{r}} \Rightarrow \beta =$$

$$\beta = 20^\circ$$

$$120 - \epsilon \omega = \underline{V \omega}$$

$$110 - 40 - V \omega = \epsilon \omega \Rightarrow$$

$$\frac{\frac{r_0 \sqrt{c}}{\sin 40^\circ}}{\frac{\sqrt{c}}{r}} = \frac{A C}{\frac{\sqrt{c}}{r}} \Rightarrow A C = \underline{\sqrt{c}} \quad \text{--- 2}$$

$$\frac{\frac{r_0 \sqrt{c}}{\sin 40^\circ}}{1} = \frac{n}{\frac{\sin 40^\circ}{\frac{\sqrt{c}}{r}}} \Rightarrow \underline{n = r}$$

$$\frac{c}{\sin C} = \frac{b^2 - r}{\sin B} = \frac{b}{\sin B} \Rightarrow$$

$$b^2 - b - r = 0 \quad \begin{array}{l} r \cos \omega \\ r \sin \omega \end{array} \quad \text{--- 3}$$

$$\Rightarrow b = r$$

$$(r_0)^2 + (r_1)^2 - r_0 r_1 \cos \beta = 110^2$$

$$200 + 881 - 149 = 1180 \cos \beta \Rightarrow 40r = 1180 \cos \beta \Rightarrow$$

$$\cos \beta = \frac{1}{2} \Rightarrow \sin \beta = \frac{\sqrt{3}}{2}$$

$$\begin{array}{l} \cos \alpha = \sin \beta \\ 1 - \frac{49}{1180} = \frac{1180}{1180} = \end{array}$$

$$a^2 = b^2 + c^2 - 2bc \cos A \Rightarrow$$

$$14 + 1(1 + \sqrt{2})^2 - 1 \times 1 \times \sqrt{2} \times (1 + \sqrt{2})$$

$$14 + 14 + 1\sqrt{2} - 1 - 1\sqrt{2} = 28 \Rightarrow$$

$$a = \sqrt{28}$$

$$\frac{a}{\sin A} = \frac{b}{\sin B} \Rightarrow \frac{\sqrt{28}}{\frac{\sqrt{2}}{2}} = \frac{1}{\sin 45^\circ}$$

($\rightarrow$)

$$\frac{\frac{\sqrt{2}}{2} \times \sqrt{2}}{\sqrt{2} \times \sqrt{2}} \Rightarrow \frac{1}{\sqrt{2}} \Rightarrow \frac{\sqrt{2}}{2} \Rightarrow \hat{B} = 45^\circ$$

$$110 - 40 - \epsilon d = v d$$

$$\hat{C} = 40^\circ$$

$$ABC \Rightarrow 1^2 + 1^2 - 2 \times 1 \times 1 \times \cos 120^\circ = \epsilon$$

$$1 + 1 - 2 \times 1 \times 1 \times \left(-\frac{1}{2}\right) = \epsilon \Rightarrow \epsilon = \frac{3}{2}$$

$$E = (\epsilon)^2 + (4)^2 - 2 \times (\frac{3}{2}) \times 4 \times \cos 120^\circ \Rightarrow$$

$$25 + 16 - 12 = \epsilon \Rightarrow \epsilon = 29$$

$$\Rightarrow CB = 29$$

$$\frac{1}{2} \times \omega \times r \times \sin 60^\circ \times \frac{\sqrt{3}}{2} = \frac{10\sqrt{3}}{2}$$

($\rightarrow$)

$$\frac{r^2 + c^2 + 2bc - a^2}{(2c \cos A + bc) \times -r} \Rightarrow \frac{b^2 + c^2 + 2bc - a^2 - 2bc \cos A}{bc \cos A + bc} - 1$$

$$\frac{0}{\omega} \Rightarrow \frac{\frac{u}{u}}{r} \Rightarrow \frac{1}{r} = r$$

جواب

$$\frac{r^2 + b^2 - c^2}{a+b-c} = a^2 \Rightarrow a^2 + b^2 - c^2 = a^2 + a^2 b - a^2 c = s$$

$$(b-c)(b+c-bc) = a^2(b-c) \Rightarrow$$

$$b^2 + c^2 - 2bc = a^2 \Rightarrow \cos A = \frac{b^2 + c^2 - a^2}{2bc}$$

$$\Rightarrow \cos A = \frac{-1}{r}$$

$$1 + \frac{r \cos \theta}{t} (1 - \frac{\cos \theta}{t}) \times \sin \theta \times \frac{1}{r} = r - s$$

$$1 + \frac{r^2}{t^2} + 1 + \frac{r}{t} = 1 \Rightarrow \frac{r^2}{t^2} + 1 + \frac{r}{t} = 1$$

$$(t+c)(t+c) = 0 \Rightarrow t+c+1 = t = \frac{1}{\omega}$$

$$\cos \theta = \frac{1}{r} \Rightarrow \cos \theta = \frac{1}{r}$$

$$\frac{r^2}{t^2} + 1 = r^2 \Rightarrow (t+c)^2 = r^2 \times r \times \left(\frac{1}{r} \right) = a^2$$

$$1 + \frac{r}{t} = \frac{1}{\sqrt{r}} = a^2$$

$$\frac{a^2}{r} = \frac{1}{\sqrt{r}}$$